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Annex
(a —b)(a+b) =a? - b?
(a — b)? = a? — 2ab + b?

(a + b)? = a? + 2ab + b?

m n m+n

X X" =X

xMix™ = xmn
(x™)" = x™"
Veyr = TR*H

1 liter = 1000 cm?®



Nr.

ltems

Score

Fill in the box so that the statement becomes true.

6 15

“fM@9a=-7—2 and b=--—
5 2

the number

then the value

is

w or

On the picture, the right triangle ABC is represented,
where m(£ABC) = 90°, m(«BAC) = 35° and BK is
an altitude. Write in the box the measure in degrees of
the angle KBC.

m(2KBC) =

w or

On the picture, the graph of the function
f:R-R, f(x) =ax?+ bx + ¢, a+0,
IS represented.
Using the picture, fill in the box with one of the

following expressions “strictly increasing” or “strictly
decreasing”, so that the statement becomes true.

“On the interval [1; +o) the function

fis

w or

Petru did his homework in 3 hours and 20 minutes. For subjects of real profile he spent
60% of this time. Determine how many minutes did Petru spend to do the homework for

the subjects of real profile.
Solution:

Answer:

A OWNPEFRP O™




3_4—2

Calculate: n L
Solution: 0
1
2
3
4

Answer:
Let A be the set of real solutions of the equation 3x2 + 7x — 6 = 0. Determine the L
set AN [—1;l]. 0
10 1
Solution: 2
3
4

Answer:
Consider the isosceles trapezoid ABCD, where B c L
AD || BC, m(zA) = 45°, BC = 4 cm. Determine 0
the perimeter of the trapezoid ABCD, if it is known 1
that its height is 2 cm. 4 D 2
Solution: 3
4
5

Answer:




Tudor filled with water a barrel with the volume of 145 liters. First he carried water with

8. a pail with the volume of 7 liters, then with a pail with the volume of 5 liters. Overall he Ia
carried 25 pails. Determine how many pails of each type did Tudor carry. 1
Solution:

2

3

4

5
Answer:

g | Consider the function fiR - R, f(x) = —4x + 3. Determine all real values of x, L
for which the value of the function f is not greater than —2. 0
Solution: 1

2
3
4
5
Answer: x €
10 lon and two of his friends decided to drink a glass of juice per each. Determine, if a L
" | liter of juice is enough to fill three glasses with the form of a right circular cylinder 0
with the radius of the base of 3 cm and the height of 10 cm. 1
Solution:
2
3
4

Answer:




Solve in the set IR the equation

11. L
x% -2 1 2x-3 0
x2+x x+1  x %

Solution: 3
4
5
6
Answer:

1o | Consider the function f:R — R, f(x) = (m? — 2) x + m. Determine all real L
values of m, for which the graph of the function f passes through the point A(1;4) and 0
intersects the y — axis in a point with a negative ordinate. 1
Solution: 2

3
4

Answer:




